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Given : Profits for the last three

years: :
2012 : ¥ 40,000 (including specu-
lation profit of ¥ S,DOO)
2013 : ¥ 50,000 (after charging
an abnormal loss of ¥ 10,000)
2014 : T 45,000 (after charging
loss of T 4,000 from earth quake)
The average profit will be,
(A) ¥ 45,000
(B) ¥ 48,000
(C) T 49,667
(D) ¥ None of these
Share Capital :
1,000 14% Preference Shares of
< 100 each -
20,000 Equity shares of ¥ 10 each
Annual Profit before tax= '
< 2,05,000
Tax Rate = 50%
Transfer to, General Reserve =
20%
Normal Rate = 20%
Value of Equity Share will be.
(A) T 10
(B) T 12.50
(c) T 17
(D) T 18.33
When the risk of investment in a
particular unit is high, Price Earn-
ing Ratio of that Unit,
(A) will be high
(B) will be Low
(C) will be affected
(D) will not be affected

US-15191/Q

B

1. Rerd T & aot b om
2012 : 40,000 ¥ (5,000 T ¥ ¥ &y

wfefer B &)

2013 : 50,000 T (10,000 T & 3grerRoT
- g e B & IgE)

2014 : 45,000 ¥ (31T & 4,000 I &
&1 15t & & UeEn)

st omyy g

(A) T 45,000

(B) ¥ 48,000

(C) T 49,667

(D) & A B3 &

sie o0 -

1,000 14% Yaif&rbR 3721, 9edd 100 I
20,000 9T 39T, Ad® 10 ¥

X gd e o = 2,05,000 T
W = 50%

T 9ad ¥ 30T = 20%
WA &R = 20%
.ﬂﬁaraiaﬁairﬁm'sﬁm=

(A) T 10

(B8) T 12.50

(c) T 17

(D) T 18.33
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Calls paid in advance account is

shown separately on the.

(A) debit side of Profit & Loss
account

(B) credit side of Profit & loss ac-
count

(C) liabilities side of Balance Sheet

(D) assets side of Balance Sheet

One person company is that in which:

(A) There is only one director

(B) There in only one member

- (C) There is only one employee

(D) Nene of these

Which of the following is required

for making a scheme of capital

reduction IegaI?L

(A) It is authorised by articles of
the company

(B) A special resolution is passed
to that effect

(C) It is confirmed by Tribunal

(D) All the above

Under the

'reorganisation of the company, if

scheme of

the creditors are willing to reduce

their claims against the company,

then the amount of reduction in

their claim will be transferred to.

(A) Share Capital Account

(B) Creditors' _Outstanding Claims
Account

(C) Capital Reduction Account

(D) Capital Reserve Account

US-15191/Q
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After the debentures are re-
deemed, the balance in the Sinking
Fﬁnd is transferred to.

(A) General Reserve

(B) Profit & Loss Account

(C) Capital Reserve

(D) Debentures Account

When own debentures are can-
celled, profit on cancellation is
transferred to.

(A) Profit & Loss Account

(B) General Reserve

(C). Capital Reserve

(D) Surplus Account

When two or more companies lig-
uidate to form a new company is
called:

(A) Amalgamation

(B) Absorption

(C) Internal Reconstruction

(D) External Reconstruction

According to AS-14, amalgamation

US-15191/Q
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10.

11.
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(C) 3raRe Ao
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(A) 1

(B) 2

(C) 3

(D) 4
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Holding Company purchased
20,000 out of 25,000 shares of
10 each of subsidiary company at
Y15 per share. On the date of pur-
chase, the subsidiary company had
profits of ¥40,000. After two
months, the holding company sold
3,000 of these shares at ¥ 20. per
share. At the end of year, the

amount of capital reserve or good-

will to be shown in consolidated
Balance sheet will be :

(A) T 68,000 Goodwill

(B) ¥ 51,000 Capital Reserve
(C) T 51,000 Goodwill

(D) T 68,000 Capital Reserve

Opening balance in P. & L. A/C of
< 4,00,000
Profits earned by holding company
during the year T 1,00,000
Interim Dividend received from sub-

holding company

sidiary Company < 30,000
Post-acquisition profit of subsidiary
company < 20,000

Holding company's share holding in

subsidiary Company 60%
Unrealised profit included
in stock 31,200

consolidated profit will be.
(A) ¥ 4,80,800
(B) ¥ 5,10,800

(C) Z 5,18,800

(D) Z 4,90,800

61

12.

AR FREh ¥ werd S & 10 ¥
afy 3 25,000 37 # ¥ 20,000 3 153
ufer 3791 B X ¥ Fa 6| BT @l

R GEI® B! BT ard 40,000 T 7]
2 HIE A& AR SR 7 &7 o0 A F
5,000 3797 20 T ofer 3197 B X |

R 7 o it w e g Rers

13,

Y A 5 ag o @ @
(A) T 68,000 W

(B) ¥ 51,000 T3t werd

(C) ¥ 51,000 =l _

(D) ¥ 68,000 i e

TUR! N & av-ae

¥ yrfivs 9 T 4,00,000

of & ARA Tk S Y

oy 3 far - T 1,00,000
HEdS TR I 3R
AHET T 30,000
TS S & 59 W 04 & AW

% 20,000

| YR FEA BT WEAS HL A

60%
Y H At sFlsia ome T 1,200

(A) T 4,80,800
(B) T 5,10,800
(C) T 5,18,800
(D) % 4,90,800
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14. Premium on Issue of shares Is de-

termined by :
(A) Company Law Board
(B) Government
(C) Issuing Company
(D) SEBI |
15. A public company can issue.
(A)
ferred shares
(B)
(C) Ordinary and promoter's
shares
(D) Equity shares and bearer de-
' bentures '

[y
o3}

. DEbentureho.Iders are. .
(A) Creditors
(B) 'Owners
(C) Customers
(D) None of these ,
17. Loss on issue of debentures is in
the nature of :
(A) Personal Account
(B) Real Account
(C) Nominal Account
(D) None of these
18. SEBI guidelines in respect of re-
demption of debentures are to pro-
tect the interest of :
(A) debentureholders
(B)_ | Creditors
(C) Shareholders

(D) Bankers

US-15191/Q

Ordinary, preference and de- .

Equity and preference shares -

[7]
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If debentures of ¥1,000 was pur-
Chased for 7 980, the difference of
X20is :

(A) Profit on Redemption of De-
bentures

Loss on Redemption of De-
bentures

Goodwill

None of these

(B)

(C)
(D)
If the purchaser company Issues
fully paid shares of ¥ 1,00,000 in
consideration of net assets of

<1,20,000,. the balance of 320,000
will be credited to :

(A) Goodwill Account

(B) Capital Reserve Account
(C) Vendors Account

(D) Profit & Loss Account

. Pooling of interest method is related

to:

(A) Amalgamation

(B) Absorption

(C) External reconstruction
(D) Internal reconstruction

Time gap between the close of the
financial year of the subsidiary
company and that of the holding
company can not exceed.

(A) There should be no gap
(B) 3 months
(C) 6 months
(D) 9 months

i8]

19. =f¥ 1000 ¥ T FoTax 980 T A HY fovayy

20.

21.

22.
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23, w8 § 3t ey gArafara fesar smen

The Unrealised profit in stock is ad-

justed.

(A) It Is deducted from holding
company's profits

(B) It is deducted from stock In
consolidated Balance Sheet

(C) (A) and (B) both

(D) No adjustment is required

Shares of a private company can

be sold through :

(A)

(B)

(©)

Private circulation

Stock exchange

Private circulation and stock
exchange

None of these

(D)

. 10,000 equity shares of Y10 each

. were issued to public at a premium

of T 2 per share. Application were
received for 12,000 shares.
Amount of Securities premium ac-
count will be : ‘

(A) ¥ 20,000

(B) T 24,000

(C) T 4,000

(D) ¥ 1,600

Premium on Redemption of Deben-
tures Account is a:

(A) asset

(B) liability

(C) expense

(D) revenue

US-15191/Q

[9]
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¥ 10 wifr 3791 @Y &X & 10,000 FHAT 3
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R3] 12,000 37 Y e AT
@ & S gt e 8

(YT 20,000

(B) ¥ 24,000

(C) T 4,000

(D) T 1,600
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27. According to schedule-III of Com-

28.

-
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30.

29.

Panies Act 2013, debentures are
shown in the company's balance
sheet under the head:

(A) Shareholder's Funds -

(B) Share Application Money

Pending Allotment

(C) Non-current Liabilities

(D) Current Liabilities

Creation of debenture redemption
reserve is necessitated by:

(A) SEBI '

(B) Companies Act

(C) Central Govt.

(D) (A) and (B) both

For non-banking financial comﬁa-
nies registered with R.B.1., the ad-
equacy of D.R.R. for debentures is-
sued through p:i:blic issue is......... of
the value of debentures.

(A) 100%

(B) 50%

(C) 25%

(D) Zero

In case of amalgamation in the na-
ture of purchase, assets and liabili-
ties are entered in the books of pur-
chaser company:

(A) at book value

(B) at market value
(C) atrevalued value
(D) at written down value

ys-15191/Q

27.

28.

29.

30.
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(A) 3ERY B
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Rl & Ry adafe e & Feik
THOIAT & for) 0T e SRify Y wiferar
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The main object of amalgamation

is:

(A) to bring economy in expenses

(B) to facilitate distribution

(C) to eliminate competition

(D) all the above

Dividend received out of pre-acqui-

sition profits of sﬁbsidiary company

should be credited to:

(A) P &L. Account

(B) Investment in Subsidiary Ac-
count

(C) Surplus Account

(D) Capital Reserve Account

. If Subsidiary company incurs losses

after acquisition-of its sha res“byl the
holding company, how holding
company will treat it in its books?
(A) Make a provision for losses to
 the extent of its share
(B) Deduct from net value of as-
sets in subsidiary h

Debit to its Profit & Loss A/c

No entry

(C)
(D) |
Premium on-issue of shares is
shown:

(A) Inthe Revenues pa'rt of State-
ment of P. & L.

In the Expenses part of State-
ment of P. & L.

In the Equity and Liabilities part
of Balance Sheet

In the Assets part of Balance

Sheet

(B)

(©)

(D)

US-15191/Q
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31.

32,
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33.
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34.
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(B) w81 faeRor-a3 & =aai A

(C) fred & wwan 3R @ wm &
(D) Rred & gwfg s #

P.T.O.

https://www.ccsustudy.com

-

WO ApnIsnsod - mmam//:sdny



wQY Apnisnsoo mmam//:sdyy

https://www.ccsustudy.com

35. Calls in Arrears is shown:

36.

W
~J

(A) as a deduction from called up
capital

(B) as an addition to called up
capital

(C) as a deduction from issued
capital

(D) as an asset on the assets part
of Balance Sheet .

The journal entry for debentures is-

sued at par and redeemable at par

will be: https://www.ccsustudy.com .

(A) Bank A/c Dr To Debentures A/c
(B) Debentures A/c Dr To Bank A/c

(C) Capital A/c Dr To Bank A/c

(D) None of above

. Unless written off the loss on is-

sue of debentures is s;hown:

(A) On assets side of Balance
Sheet

(B) Onthe expense part of State-

ment of Profit & loss |
(C) By way of deduction from the
amount of debentures
(D) On the liabilities side of Balance

Sheet

Us-15191/Q

35, 3l arERl Rgeg e #

36.

37

(A) T G5 & ger@ & ¥UH

(B) ‘ot $ & s & wy #

(C) Frifra tj;s?r.ﬁ 9gid & oY H

(D) %af&%ﬂmﬁrmﬁeasm%a%
wifer

afE orgt &1 e sik e w9

W e 7Ry o e @ -

(A) Bank A/c Dr To debentures A/c

(B) Debentures A/c DrTo Bank A/c

(C) Capital A/c Dr To Bank A/c

(D) 3w & & i A& |

. F9 9% 3mfciEd [8 o< f&ar Jer,

FoAr & Ffn w afy Raerh I
3.

(A) fred & il ger §

(B) Tw-gIf foa=or-um & sag s
; .

(C) =t o TR ¥ wewEs

(D) Toed & afreg wer &
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39.

40.
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Kalka Ltd. issued ¥ 20,00,000 6%
Debentures at a premium of 8%

on June 30, 2013 redeemable on

June 30, 2014. The amount of de- |

benture redemption reserve to be
created before redemption of de-
bentures is:

(A) X 20,00,000

(B) < 10,00,000

(C) Nil

(D) ¥ 9,20,000

If debentures of ¥ 16,00,000 are
redeemed by conversion, then the
amount is needed for transfer to
Debenture Redemption Reserve?

(A) ¥ 16,00,000

(8) ¥ 8,00,000

() T 12,00,000

(D) Nil

The value of net assets of a busi--

ness is subtracted from accepted
purchase consideration. The bal-
énce amount will be.

.(A) Purchase Surplus

(B) Value of Goodwill

(C) Business Fund

(D) Capital Surplus

us-15191/Q

©38. 30 T 2013 @B WBIFTRT A0 2

39.

40.

120,00,000 T 3 6% FHIF 8% Mg

R Prifir R5d 3 5 30 3 2014 31
2 81 A & e ¥ o g
B T A T e o @
(A) 20,00,000 X

(B) 10,00,000 T

(C) @

(D) 9,20,000 ¥

afe T 16,00,000 & HOGH B IMe
oRad g1 fia T 2 Y swor s
I W &R0 & o) AEaeas

A

(A) 16,00,000 T

(B) 8,00,000 ¥

(C) 12,00,000 X

(D) 1

U6 Wadd Bl Y Tl B qed
W @ wfewa ¥ g ST &1 99
SURACUIE

(A) Ha tE

(B) w&id & ged

(C) TEHRI®G B

(D) it sty
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42.

N
w
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Excess of net assets over purchese
consideration is considered as:
(A) Goodwill

(B) Capital Reserve

(C) Revenue Reserve

(D) Secret Reserve

Which Accounting Standard pre- 42,

scribes the procedure of preparing
consolidated financial statements.
(A) AS -3

(B) AS -7

(C) AS - 14

(D) AS - 21

. Given: 43.

Balance of P. & L. A/c of H Ltd. (1-
4-14) T 20,000
Earnings during the year < 70,000
Current year's profits of subsidiary
T 30,000
Holding company's investment in
80%

company

subsidiary
Date of acquisition octoberl, 2014
The consolidated profit to be shown
is consolidated Balance Sheet as on
31st March 2015 will be:

(A) ¥ 90,000

(B) ¥ 1,02,000

(Cc) ¥ 82,000

(D) ¥ 32,000
[14]

41, Wmﬁlﬂmuﬁﬁﬁm

HECI ¢
(A) =t
(B) TNt W
(C) I Ead
(D) T« T
R e AT (AS) g ot
¥ TRV B Srifafy e B T
8.
(A) oE@®HH Y9 - 3

~(B) @gi®A §H 9 - 7
(C) g ¥ - 14

(D) e ¥ - 21
feam & -
va.f. & aw-sfy wrer &1 9
(1-04-14) T 20,000
g &t HI T 70,000
eGP HA! o dle] I« B TH

T 30,000
AU B 1 Ferae | fafsra
80%

®a &t fafy ISR 1,2014
31 A, 2015 & Wfepa faed
femara 7= aren a@fea a1y A
(A) T 90,000
(B) T 1,02,000
(C) T 82,000
(D) ¥ 32,000
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44, Right issue of shares is possible af-

ter the expiry of ......... from the

date of the first allotment of shares.

'(A) 6 month

(B) 1 years

(C) 2 years

(D) 3 years

45. Allotment of shares can be taken
up only after:

(A) taking approval of sharehold-
ers

(B) taking approval of SEBI

(C) minimum subscription is re-

_g ceived
o (D) approval of Registrar of com-
g panies
€ 46. Income tax deducted from inter-
§ est paid on debentures is shown as.
% (A) expense of the co.
é* (B) asset of the co.
8 (C) liability of the co.
= (D) income of the co.

47. Which of the following statements

is false?

(A) Debenture is a form of bor-
rowing from public.

(é) Normal rate of interest on de-
bentures is specified on issue.

(C) Debenture interest is a charge
against profits.

(D) The issue price and redemp-
tion value of debentures will al-
ways be equal.

US-15191/Q

44, ftreR 309 & e T gry 39T

45,

46.

47.

(D) T & MR & IgRE
FOUA R YA 3 T8 &H P
T AR A feaemar smar &

(A) A & 0P T P! RE

(B) W & Twfa & &7

(C) & & afaa & R

(D) T N I B R®E

fr=fofaa wesl ¥ ¥ o a7 s 22

(A) TR T Y IURY &7 0B aDT
2l

(B) =oTH3} R TS B IR <= ol
R & ffde o= & sy &

(C) =T R &1 o vl R 08 T
gl

(D) o &5t i e iR whvers vy

weq THE & 21

P.T.O.
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48. 6,000 debentures of ¥ 10 each

49.

50.

were redeemed by issue of equity

shares of ¥ 10 each at a premium

of 20%. The number of equity

shares to be issued will be:

(A) 50,000

(B) 60,000

(C) 5,000

(D) 6,000

W Ltd. issued 40,000 8% deben-

tures of T 10 each at par, which

are redeemable after 5 years at a

premium of 20%. The amount of

loss on redemption of debentures

to be Written off every year will be:

(A) < 80,000

(B) X 20,000

(c) ¥ 8,000

(D) X 16,000

The 'Purchase Method of Account-

ing' is adopted under which method

of amalgamation?

(A) Amalgamation in nature of
merger

(B) Amalgamation in nature of
purchase

(C) Internal Reconstruction

(D) External Reconstruction

[16]

48.

49.

50.

2 10 Rt & 6,000 ForeA B X 10 oA
¥ e 37t @1 20% Sftaw W) e
gR1 e o e Frff 5 S
e wwal 3ig @ g antl

(A) 50,000

(B) 60,000

(C) 5,000

(D) 6.000

g fa1. 3 10 T wfr & 40,000 8% 0T
w-gea R Frifm 5 st 7 5 adf &
9T 20% HHA R wied & TS
af sufafEa & IR arlt HowaE &
e ® & @ af¥r

(A) 80,000 %

(B) 20,000 T

(C) 8,000

(D) 16,000 ¥

rotaxv &t fow agfa & s=nfa
2?

(A) fera & wzfy & edawor

(B) #4 B Wi § vadiawor

(C) 3=iRa gAt-mfor

(D) amar gAf-wior

https://www.ccsustudy.com
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51. EEOR® T @ gutal 3R afaal

51. Details of assets and liabilities of
transferor company are shown as
follows:

Fixed Assets T 2,50,000
Current Assets T 2,70,000
Current liabilities T 200,000
Reserves T 25,000,
Share Capital T 2,95,000.
The purchase consideration in case
of amalgamation in the nature of
merger will be:

(A) T 5,20,000

(8) ¥ 3,20,000

(C) T 2,95,000

(D) ¥ 2,50,000

52. The name 'Parent Company" to the
holding company is given by:
(A) SEBI
(B) Company Law Board
(C) AS-21 issued by ICAI
(D) RBI

53. A company should acquire at
least...... equity shares of another
company in order to become 2
holding company.

(A) One - half

(B) more than half
(C) 75%

(D) 100%

US-15191/Q

52.

53.

¥ faRor 39 R & ¢

Y fedt 2,50,000 ¥
e TRl 2,70,000 T
e, AT 2,00,000 ¥
affert 25,000 ¥
et 5 2,95,000 %
frera B wpler # w1 B gen # w
wferser & :

(A) ¥ 5,20,000

(B8) ¥ 3,20,000

(C) T 2,95,000

(D) T 2,50.000

AR B B TS SR T e

Tar g

(A) & R

(B) S B &8 §R

(C) sé. e gx Fafa o
HeUs-21 gRT

(D) wraa Rad §& g

wﬁmﬁraﬁ%%&u&smﬁt

P gEd DA B wHA I G WA
HH Y BH......... I WG HA Bl
(A) 3m
(B) amer ¥ 3t
(C) 75%
(D) 100%

P.T.0.
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54. Unless otherwise stated, a prefer-

S4. 3 I 7 GF T €, TP BRI
ence share is always deemed to be.

(A) Non-cumulative non-convert- 3797 W & FE IR

ible and non-participating
A) arad, aRada sl srRvEl
(B) Cumulative, non-convertible (A) ' '
and non-participating (B) WA, srRad- sk e
(C) Cumulative, convertible and -

. (C) W, aRadda 3R TEw
participating

(D) Cumulative, non-convertible (D) e, sRada 3k 3
and participating

55. The difference between subscribed 55, iRl 3o 3R e Tot & H=IR STl
capital and paid up capital is called: &,
(A) Callsin arrear : (A) 3d TR
(B) Calls in advance (B) 3w wra ara=
(C) Uncalled capital (C) srnfua Iait
(D) Paid up capital (D) wad s
56. Debenture premium cannot be 56. oA NfEam @ ... winT &) fpar
used to: ' S Tobdl &
(A) Write off the discount on is- (A) 39 a1 FomwE B e w st
sue of shares or debentures % wuEa ¥ R
(B) Wwrite off the premium on re- (B) 3iel o T 35 v o A
demption of shares or deben- v & B
tures (C) e % g ¥ Ry
- (C) Pay dividends (0) & B B s 3 B

(D) Write off capital loss

" [18]
us-15191/Q :
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57. If debentures of the nominal value 57. f& 1,00,000 T cq & FHOTGA B 10%
of T 1,00,000 are issued at a dis- g2 U3 80,0003 Ted o g Tt &
count of T 10 for net assets with Prfas fsar Y @ 3G9 10,000 3
380,000, the balance of ¥10,000 NN N —

will be debited to :
(A) Goodwill A/c
(B) Capital Reserve A/c -

(A) e @
(B) eI wfafa @

(C) P.&L. Afc (C) amw-g1 @
(D) General Reserve (D) I it
58. The schedule III of Companies Act, -  58. &It 2013 B 3R I11....... &
2013 is applicable for the financial g1 & ¥ 9RY 89 9@ I oy & fod
year commencing on or after: @y & & -
(A) 1st April 2012 (A) 1 30 2012
(B) 1st April 2013 (B) 1 3ma 2013
(C) 1st April 2015 (C) 1 384 2015
(D) 1ist April 2014 (D) 1 38e 2014
59. Select the correct order in which 59. 3w It & ey J Feafafaa #al &
the following items in respect of mﬁ%%@ﬁﬁaﬂmﬁ%aﬁm
share capital have to be stated in B TG Y -
E:? bsi;?:ce sheit lm’ a <:-:>n'u:aanwT (@) = o
aid up capita .
(b) Subscribed capital O ﬁ
(c) Authorised capital (c) W 13?[
(d) Issued capital (d) Frffira iﬁ’ﬁ
(A) a b ¢ d (A) a b ¢ d
(B) b a C d (B) b a c d
(C) ¢ d b a (C) ¢ d b a
‘®c d a b D) c d a b
US-15191/Q [19] P.T.0.
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60. Goodwill is the value of:

61.

L)
N

(A) good name of business

(B) capacity to attract the cus-
tomers

(C) quality of product

(D) all the above

"Goodwill is the current value of ex-

pected future income in excess of

a normal return on the investment

in net tangible assets." This defini-

tion is given by:

(A) Lord Lindley

(B) Lord Elden

(C) Kohler

(D) None of these

. Net assets means:

(A) Total Assets
(B) Total Assets - Total Liabilities

(C) Total Assets-Current Liabilities
(D) Realisable value of Real As-

sets-total outside Liabilities

63. If the value of shares is calculated
on the basis of dividend, it is called:
(A) Yield Method
(B) Net Assets Method

(C) Fair value Method

(D) Intrinsic Value Method

US-15191/Q

60. wf W IR &

61.

62.

63.

(A) TaEE B wferst I T
(B) WD B S A DI SR Bl

ol
(C) Iq= B IoTadr B T

ol

gy gt weafrat & Rfr o g |
siftres g AT 3T & Tl T
=ifer &1 ag o & & -

(A) @ formsat A

(B) @iis oo A

(C) PrEeR A

(D) ™ & T T

(D) A il B el 5 -
P TR AR

afe 379l &1 go AvWier & 3R | T

fear sen & o 39 et e &

(A) 3ma fafer

(B) & awf fafy

(C) 3 7ra fafy

(D) 3R® weu fafer
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64. When shares are forfeited, the

h
A

h
(=3}

. The

share capital account is debited
with.
(A) Paid up amount of forfeited
shares

(B) Called up amount of forfeited
shares

(C) face value of forfeited shares
(D) Uncalled amount of forfeited
shares

profit on reissue of forfeited
shares is transferred to.

(A) General Reserve

(B) Capital Reserve

(C) Profit & Loss Account

(D) Share Capital

. Debentures of ¥ 8,00,000 are is-

sued by X Ltd. against the purchase
of assets of T 8,50,000. In this case
< 50,000 will be supposed to be:
(A) Loss

(B) Capital Reserve

(C) Profit

(D) Goodwill

US-15191/Q

(1]

64. @ 39T g B FAM € o W TN

65.

66.

e fve faar sman @

(A) 370gd 372 & Jew IR |

(B) Juge 319 & gifera afdr &
(C) 31uga 39 & 3ifsa 7o 4

(D) 3yugd 3wl & A A @

3Rd 372 & GAIAT R AH SRR
&< fear sman &

(A) 9= Sfafa &

(B) Toie wfufer 1

(C) amv-a @ &

(D) 379 Gar &

8,50,000 % @I wHfaal & B & ford
vad. 7. 2 8,00,000 T ¥ oA
fffia fed g9 wmer & 50,000 2
HMET FRAT

(A) &7

(B) Yot wiferfer

(C) @™

(D) =i

P.T.0.
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67. Securiti i . ‘ :
urities Premium Account con 67. s Mfiem @ # Hferferer g & -
sists of.

(A) Premium on issue of shares (A) daet 3iE B fopfrrr o St

only

(B) et FoTA & Pt )

(B) Premium on issue of deben-

t | : - A
ures only ©) S 3 ®

(C) Premium on issue of shares

and debentures e .
(D) g;aiﬁmmﬁhsﬂ'{ﬁmﬂa‘r%ishm
(D) Premium on Redemption of
Preference share and Deben- = Mg
tures
68. There are only....... main heads in 68. HU Affow 2013 B 34:533?[ &
' ! | h a v
Assets' part of Balance Sheet as a1 R Bt i
er part I of schedule IIT of Com- _
Per P HIA ... e S #
panies Act 2013
(A) 2
(A) 2
B) 3
©) 4 (C) 4
69. Provident Fund is a: 69. wias it @ vs
(A) Provision (A) 3maSH
(B) Surplus . (B) it
(C) Current Liability (C) a@aﬁa
(D) Loan (D) =1
70. Accounting treatment of goodwill is: 70. @i BT AEHT TER & -
(A) revaluation | (A) FrRefe

(B) depreciating yearly

- (B) affs
(C) write off against capital prof- ) g HIeAT

(C) Toa el & ¥ reres
(D) T ¥ &g T8

its
(D) none of these

22]
Us-15191/Q .
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71.

72.

73.

74.

https://www.ccsustudy.com

Which accounting standard relates
to goodwill.

(A) AS-6

(B) AS-10

(C) AS-21

(D) AS-26

Which of the foilowingj Method is
based on the average of the val-
ues calculated by the other two
methods.

(A) Net Assets Method

(B) Yield Method

(C) Fair Value Method

(D) (A) and (B) both

Which of the following asset is in-
cluded in intrinsic value method.
(A) Preliminary expenses

(B) Patents

(C) Discount on Debentures

(D) Goodwill

Premium on issue of shares can be
utilised for.

(A) distributing profits

(B) issue of fully paid t_:onus shares
(C) Writing off goodwill

(D) None of these

US-15191/Q

[23]

71. 39 91 @i THY = F Frafer

72.

73.

74.

3.
(A) gl Y9 - 6

(B) &g WA - 10

(C) arEid= J9IT - 21

(D) orREidH YAM - 26

3T A ggiaal @ amfug gl &
sitaa = F=faRaa & @ a9 @ ugfa
amenfa & :

(A) q;w%ﬁﬁ:

(B) wfawe fafyr

(C) 3fua qea fafer

(D) (A) 3R (B) M
Frafofaa & & o 9@ wafy sm=aRe
Teg ggfa ¥ afafea &

(A) RS =7

(B) W<

(C) =OGAl R Tk

(D) wrfa

Fo & Pl w Wi & wanr o
ST HPar & -

(A) @i & fwem & foe

(B) yoiew dmwr 3w frfe & fm
(C) = ufafed &= & /R
(D) ¥ ¥ B i |

P.T.0.
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75. Amount received on forfeiture of
shares is credited to:
(A) Profit and Loss Account
(B) Share forfeiture Account
(C) Capital Reserve Account
(D) Securities Premium Account
76. The Underwriting commission in
case of issue of debentures cannot
exceed:
(A) 2%
(B) "2.5%
(C) 3%
(D) 5%
77. Loss on issue of debenture is gen-
erally written off in:
(A) S years
(B) 15 years
(C) Overthe pg.triod of redemption
(D) 10 years/
78. Advance tax is shown in the:
(A) Expense part of P. & L. state-
ment _
(B) Income part of P. & L. state-
ment
(C) Equity and Liabilities part of
Balance Sheet
(D) Assets part of Balance Sheet
US-15191/Q

[24]

75.

76,

77.

78.

magmﬂmﬁﬁaﬁ
e foan T &

(A) 2%

(BY 2.5%

(C) 3%

(D) 5%

ot % Bl ® @ & I

amfefaa fean = &
(A) 5asf &

(B) 15 @uf ®

(C) oher &1 3@fer ot H
(D) 10 asf A

M Fx fememn e @ ¢

(A) @TH-g faaRor Uz & g T
L

(B) @TH-g1f+ fda=or 43 & 3mg W
|

(C) Taed & wwar 3R ol v #

(D) fued & Twfey wmr #

https:// Ww.ccsustud}‘f.com
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79. Which of the following is not a cur-

80.

o0
[

82.

(D)

https://www.ccsustudy.com

rent asset.

(A) Stock

(B) Prepaid Rent

(C) Goodwill

(D) Cash

Which of the following in not in-
cluded in assets in the calculation
of capital employed?

(A) expenses incurred on exten-
sion of building

Preliminary expenses

Capital expenditure on machin-

(B)
(C)
ery

Cost of acquisition of Good-

will

. The most scientific method of

goodwill determination is :

(A) Capitalisation of Super Profit
Method

Purchase of Actual Average
Profits method

Method described in income
Tax Act

(D) Annuity Method

Normal rate of return means:

(A)
(B)
(C)

(B)

(C)

dividend rate

market price of share

return on investment in other
industries

return prevailing in the indus-
try in which the company is
working

(D)

US-15191/Q

79. Rreffafas & & B & e awfy 78

80.

81.

82.

[25]

g:
(A) &9

(B) ydeq fa=mar
(c) wfd
(D) A>S

ffafa dait &t worr A F=fofRaa
¥ 3 ey wwafaat A 78 afafeaa fean
e &

(A) wa7 ¥ gfx &

(B) wRfs® =g

(C) ==t & Y5t =g

(D) Tnfa &g & =g

afa fFraftor 3t waffte denfe gafa
3.

(A) ey & Gohavor &) ggfe
(B) arafas 3Id oW & HU Y Tafa
(C) 3maax fufm & aftfa gl

(D) af¥s ugha

AR T 1T &% T 19 & -

(A) HE R

(B) 39 & SR oA

(C) &= i F faffam | sy

(D) Fdm, fem o wrEishe &, §
yaferd ST

P‘T 10-
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WO ApnIsnsod - mmam//:sdny



https://www.ccsustudy.com

83. For calculating the value of an eq- 83.

uity share by intrinsic method, it is
essential to know:

(A) Normal Rate of Returmn

(B) Expected Rate of Return

(C) Net Equity

(D) All the above

84 . Discount allowed on reissue of for- 84.

feited shares is debited to:

(A) discount on issue of shares A/c
(B) forfeited shares A/c

(C) Profit & Loss A/c

(D) Capital Reserve A/c

o
n

shares of ¥ 80,000 in consideration

of net assets of < 60,000, then the

balance of T 20,000 will be:

(A) debited to profit & loss ac-
count

(B) debited to goodwill account

(C) credited to capital reserve ac-

count
(D) credited to securities premium

WO ApnIsnsod mmam//:sdny

account
86. Transfer to capital Redemption Re-
serve Account can be made from:
(A) General Reserve
(B) Profit Prior to Incorporation
(C) Securities Premium Account
(D) Share forfeiture Account

Us-15191/Q (28]

. If vendors are issued fully paid 85.

86.

mﬁw&wu@%%ﬂmwaﬂiﬂ
&ma‘?%ﬁu‘e’aﬂwa=

(A) 3iEi & Frfae W el @

(B) 3¥uge 3721 el

(C) @TH-EIH @

(D) Y3ia He g Al

aft fapamstt &Y 60,000 T P& T &

yfereser 3 80,000 T & ot & i Frifea

s s & ar 9w 20,000 T -

(A) en-arhy @ & afde fhar smam

(B) e @ @ 3fde far smdm

(C) Y o a1 pfse fovar ST

(D) sferyfer it @ &1 bfse T
A

it o wfafa @@ § et foar

31 T &

(A) g wfafa &

(B) WRMCH I qd av |

(C) wienyfer difiram @y @

(D) 379 &Rl Wi |/
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87.

88.

(A)

3]
W

90.

https://www.ccsustudy.com

87. GTieA Bt At A 3Rl R wwiia

In a scheme of reorganization,
amount of shares surrendered by
shareholders is transferred to:

(A) Capital Reduction Account
(B) Shares Surrendered Account
(C) Capital Reorganisation Account
(D) Shareholders Account

Patent is:

intangible asset

(B) fictitious asset
(C)
(D)

actual asset

current asset

. The balance of share forfeiture ac-

count is shown in the balance sheet
as:
(A) an addition to subscribed share
capital

(B) an addition to issued share
capital

(C) an addition to reserves and
surplus

(D) None of the above

Super Profit is:

(A) Normal Profit-Actual Profit
(B) Actual Profit-Normal Profit
(C) (A) and (B) both

(D) None of these

US-15191/Q

[27)

88.

89.

90.

I B SH @Il B
39T TGO Wl B
o e e
FETERY @1 B

(A)
(B)
(C)

37T &<01 @r &1 99 faes # feeman
ST &

(A) wIREa 3ier $oir # Sisax

(B) fnffia a7 ot & sisax

(C) ¥au 3R oW § Fegax

(D) IRYE & A B T

SfRreT &

(A) THRT Y - IRATAS oy
(B) TRANS AW - AHFI @TH
(C) (A) 3R (B) A

(D) §¥W 4 B T

P.T.0.
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91. In the beginning of 2015, the Man-
agement decided to insure the busi-
ness. Insurance premium is X 3,000
per annum. Effect of this transac-
tion will be:
(A) Average profits will be reduced
by ¥ 3,000
(B) Average profits will be in-
creased by ¥ 3,000
(C) Profit of 2015 will be reduced
by I 3,000
(D) No effect
— 92. Given:
g Fixed Assets ¥ 3,00,000
< Current Assets ¥ 1,50,000
é Current Liabilities < 50,000
g 8% Debentures Z 1,50,000
g Reserves T 20,000
% Outstanding Interest on Debentures
é 6 months.
o Net Assets will be:
=t (A) T 4,00,000
(8) T 2,44,000
(C) T 3,00,000
(D) T 2,30,000
93. Given:
Net Assets = 90,000 ¥
share capital:
10,000 Equity shares of T 2 each
5,000 Preference shares of ¥ 10
each
value of an equity share will be:
(A) T4 (B) ¥3
(C) X5 (D) T 2
Us-15191/Q

91.

92.

93.

aézmsasm?mﬁwmﬁm

. LU 2u i forera e
v S 3,000 2 aifies 1§ AGER

&1 gy BN
(A) stk amit & 3,000 T B FH

(8) Maﬂﬁﬁs,oooza%qft

(C) 2015 a¥ & TMH & 3,000 T &
HH

(D) @ g &

Z 3,00,000
Z 1,50,000
T 50,000
T 1,50,000
T 20,000
HOTTA! UR 3T &S 6 HIE

¥z grafeal gl

(A) T 4,00,000

(B) T 2,44,000

(C) T 3,00,000

(D) T 2,30,000

Rard:

g% wfdl = 90,000 X

3rer G0

2 T ufa & 10,000 TwWar 39

10 ¥ wfd & 5,000 gy 3
O THAT 39 & Jrd &N ¢

(A) T 4 (B) T3

(C) 5 (D) T2

https://www.ccsustudy.com
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94. The balance of forfeited shares ac-

count is:
(A) a revenue reserve
(B) a capital reserve

(C) a part of share capital

94. 39Ed 37T @Al BT A &

(A) UH ITH U

(B) va Uoihma w9

(C) 39T Y3t &1 OF UNT

WO ApnIsnsod - mmam//:sdny

(D) None of these . (D) ¥4 3 B T
95. Bonus to equity shareholders 95. THar sigrenfkal B sftreTwie &1 e
means: 2:
(A) an extra dividend (A) v 3faRes arwier
(B) an extra call (B) v sfafles ara=n
(C) an extra share (C) v sfalRes 3igr
(D) None of the above (D) 3udss H | PIg &
96. Preference shares can be re- 96. gaift®R 3790 &1 Mes fsar 5 Tban
deemed: 8- ’
(A) only if they are fully paid (A) &ae ot 5@ & Qofae &
(B) even if they are partly paidup (B) ¢ d 3H94: T 81
(C) after getting the permission (C) &aa Eg ¥ wWepta e s
from the court only & T
(D) All of the above (D) 3qzj?5 qn?f
97. Which of the following cannot be 97. s ¥ ¥ frd oiem Q@ffﬁail’( 3y ¥
applied for the redemption of
redeemabel preference shares: M & fory s I oo st e
(A) Free Reserves &:
(B) Proceeds of fresh issues of (A) T g
debentures X
(C) Proceeds of fresh issue of () =3 et & Folee S
shares (©) qﬂmﬁﬁ?ﬁﬁﬂ?%mq&;
(D) erofit available for dividend (D) @mvrer & o Juerer amsy
US-15191/Q (29]
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. .
8. A cOmpany provided ¥10,00,000

" 98, UH I A ey e & o T
for dividend payment, What will be l

10,00,000 BT Wigg fpar! Frw e
o< B IR Ty B, 15% B R AR

the amount of Corporate Dividend

Tax, assuming rate of 15% plus

surcharge of 10% education cess 10% ST Ses et 39% FIEA ST A
of 3%: | Aoy
(A) ¥ 2,50,000 (A) T 2,50,000
(B) ¥ 2,80,000 ' (B) ¥ 2,680,000
(C) ¥ 1,65,000 ' () ¥ 1,65,000
(D) ¥ 1,69,950 (D) T 169,950

99. Interim dividend is always shown g9, sraRwammadad ......... & a@amn
in: T B
Eg; ztatelme;z of :;oﬁt and Loss (A) - N

urplus Accou
(C). AssZts part of Balance éheet (B) 3T1ﬁ1'd?1 Al
(D) Equity and Liabilities part of () foed & watq Wt
Balance Sheet (D) ﬁ—.m‘é & w3 A

100.Given:’ : 100.fean @ : | ‘ _
Current Assets T 5,00,000 e et T 5,00,000
Fixed Assets T 14,00,000 IR TfRrat T 14,00,000
Preliminary Expenses ¥ 1,00,000 IRRYS E 1,00,000
Pl:ovfsion for income tax R ¥ BRY s 2 100,000

e

Creditors ' Y, R e

Capital employed will be:

(A) ¥ 18,50,000
(A) 3 18,50,000 https://www.ccsustudy.com

Whatsapp @ 9300930012 (B) ¥ 19,00,000
(B) 4 19,00,000 Send your old paper & get 10

o qua aud e o 10w i, (C) % 16,50,000

(C) ? 16;501000 Paytm or Google Pay & .
() T 17,50,000 . (B) % 17,50,000
[30]
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